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QUESTION 1

Which three options are true for the system, entityToResolve variable? 

A. System.entityToResolve can reference the resolve value of all entity values defined within the skill. 

B. The system.entityToResolve variable tracks an entity value, that is, as you resolve entities in the composite bag, it
references the current entity resolved. 

C. ${system.entityToResolve.value.userinput} returns the text entered by the user. 

D. ${system.entityToResolve.value.resolvingField) returns the text entered by the user. 

E. The system.entityToResolve variable can be referenced from within the system. ResolveEntities and
system.commonResponse components to display, for example, information about the entity that has been resolved. 

Correct Answer: BCD 

 

QUESTION 2

Which two statements about using the OAuth2 client credential grant type in Oracle Digital Assistant are correct? 

A. The OAuth2 client credential grant type does not require a bot user to authenticate and instead uses a shared clientld
and secret. 

B. The user must be logged in to an identity service provider using his or her username and password to obtain a client
credential access token 

C. You use the Oracle Digital Assistant Authentication Service with the system. 0Auth2client component to obtain a
client credential access token. 

D. The client credential grant type requires the system.OAuth2AccountLink component to obtain a token that
propagates a user\\'s identity between distributed systems. 

E. The OAuth2 client credential grant type uses the system. Webview built-in component to perform social media login. 

Correct Answer: AC 

 

QUESTION 3

You want your skill to output the size of the pizza that was ordered.. Which FreeMarker operation must you use 

A. "You ordered a ${size[0]} pizza." 3) 

B. "You ordered a ${size} pizza." :) 

C. "You ordered a ${size.value} pizza. 

D. "You ordered a ${size.string} pizza." 

Correct Answer: A 
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QUESTION 4

Which two statements are true regarding local web application invocation using the system.webview component? 

A. Local webviews require a Node.js environment and must have a package, json file in their root folder. 

B. An SPA application can issue an Ajax post command to the callback URL that has been passed with the web
application launch 

C. system.webview components can only be used with web channels. 

D. Local webviews require SPA applications to have an index.html file in their root folder. 

Correct Answer: AD 

 

QUESTION 5

Which three statements are true about composite bag entities? 

A. They define a business domain object as a collection of related system entities and custom entities. 

B. When you add entities to the composite bag, you can control how they get extracted in related to other entities and
when they are prompted for. 

C. The composite bag will always enforce that every entity has a valid value before allowing the conversation to move
on to the next state in the dialog flow. 

D. You need to create a separate composite bag to handle nonentity types such as strings. Locations, and
attachments. 

E. The composite bag can resolve all entity values using only a single state in the dialog flow. 

Correct Answer: BCE 
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